MATHEMATICS
TUTOR MARKED ASSIGNMENT

Note: All questions are compulsory. Marks are allotted in front of each question.

oltl: (il YRl $(FULA . €35 Usloll 2010 HIS™U slonclallH 1A B,

311

§A HIs R0

Write your Name, Enrolment Number, Study Centre Name and Subject on the top of the first page of the answer

sheet.

AHL3 ol ARl ololR, UeUU Fosio] ollH Wal [Ar2ue(l AU UR cvll

AL UAS] YUH Y6,
Answer any one out of the following questions.
o{l Aot YsllHiell 515Ul A sotl oscllod AU

Answer any one out of the following questions.

Write the following sets in rotor form:

1.o{l Aot YslHiell SleFURL A satl aallol AL

o{lActl A2 AR AU AVl:

a). A={x:x WYalls B UA-3<x<7} (U6 0% Y)

b). B ={x: x W6 cll eS| A5t AvaL B} ( ULs 0 Yl)

a). WA vUslAHiel, tan P - cot R 0L
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Figure 1

b) AR A 5 3 (sin40 — cos46 +1) cosec26 =2
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Answer any one out of the following questions.

2. ol Aot YslHill SlEFURL Aot acllol AU ( Wisd 0R)
a). AP 6, 9, 12, 15, 18, ....., 102 oll BdAHil 284l ue AU (Us 05 AAH)
b). ¥2cll 3-vise{l v 7 a3 [Qeuxu B? (U 05 Y)
uell
a). GPall 32clls 2RAloll ARclldl 315 B. Aol YU Yed 5 B ol ALHLA YRR 2 B.
Aotl UEle{l vl Wl Becll Yed UL (W 05 )

b). Acll GP oll AULMe IJBNHR WU ¥ Boll ol UELN UGN 8 & U Aoll ofley wal@l B. ( Ws 05
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3.o{l Aot YslHidl sleFuel Wsell scilol AU ( Wil 0R)
a). ¥zl =2 + 8iwMalz2 = 1—1i, cl |z1/z2] 0. ( WS O¢ YA)
b). URlL Sz = (2—i)2 + [(7 —4i)/(2 +i)] — 8,z ol x + iy oll 3UHI cAS 5A BH ¥ x
Wal y cllxcd(ds AuwRAl B, (ULs 0¢ A)
uYall
a). WAHlolcll x2 + x - 28 < 2 GHAL ( Ws 0¢ )
b). -1<4x+2<10 ( W6 O¢ 3ll)
4.o{lAell YslHill SlEfuBl Wsotl sclted L. ( Wsd 0%)
a). MISSISSIPPI H{ W&ol 2L MUAI-UAL sHUA AR $2 B
& AU ol AeA? (We 11 Y)
b). 0 &l 9 slell GUAL 53l 32cll 5-isell A5t Art olellcll AslA B, %
g5 AvAl 67 Ul 2A3 ALRA B sl 5 s WAs scll Ay <AlR Eulldl otell? (Us 11 )
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ol n € N H2 2UQAs Bossletoll Raidell GUAL s3lA (Aol AlAA 53
a). 1.2+222+322+...+n2n=(n-1)2n+1 +2 (U6 10 %)
b).n(n+1) (n+5)A 34l oals O.
Ul
a). [@Qxdqd sA (x/3 + 2/y)4
b). ®AUR 7103 ol 25 AS GOLAUHL AA R AN WL
c). vl (13)10 ol Bl A sl WUl (Ws 1R %)
6.o(lAotl YslHidll slFuel Wsell sciiol AU, ( Wil 09)
a) 2lAR olollalcl SUo{lA 2laR USAl scR $CE cRall 818 AvA cll
olecalell %32 B. sles 1000 3ol URRUH e2ld & (U e )
AR sl AU B 4000 &l 9001 l sl dy
(5:{0) 4000 9000 14000 14000
uLelclot 20 210 325 445
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(i). 4000 (3l wcdl A A Ugal Aal sledd Us?.
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b). Aol W A2 sllHoll A NASIA 2R N2 A 8. Wdctsll euctstl
AU Wclg 0.62 B. AN AU WA Aoll Aelctall dedl 82
c). As RS ALl vl FscHl A 8, o{lAell Uestillal tauletHl A
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a). ollAail 3atoll Arllell ARl ua djulls M.
(i). 63, 89, 98, 125, 79, 108, 117, 68
(ii). 43.5, 13.6, 18.9, 38.4, 61.4, 29.8
b). %l 3aloll UYeall AN wal Aell ollo] HEA WofsN 36.8 Bl 13.4 2, dl
el W yea AL
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